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from micro:bit import *
import utime
import machine

#pinlxfEAT S
pinl.write_digital(0)
soundvelocity = 0.6 * temperature() + 331.5
while True:
#RJAHINILR

pinl.write_digital(1l) #Z 24T TpinlIZFELVWNLREZHRE 051
pinl.write_digital(0) # 1-50

pinl.read_digital()
utime.sleep_us(1)

# EB DHDEEREZ BIE
duration = machine.time_pulse_us(pin1,1,1000000)
pinl.write_digital(0) #FEARIFESLIC0ZHA /A XK
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distance = int(duration * soundvelocity / 20000)
if O<distance and distance < 500:
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print('duration[usec] distance[cm] ="' + str(duration) + ' ' +str(distance))

sleep(100)
else:
print('NG')
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